R [€) [T

ofoesiarr 3 IS fafeat

5. OfGefIRRT sviteld Fatdd Wiy iy ofde sifiqed 3 4ed Bitdgd Wy iy ©foe sifaatdd
s2fF7 It 2 ©fSefIRTAT IV fF T Mdy iy Sd8A S<ifzo 78 2

2 (ACF oY@ OfGLTHCA Yo SIFA (Y U 419 & Scerrgefe ofe #iiaze
I | AYE SIOTHCA STGLRTHT] ML TR W) e ofr #Ifazel I3 FIoE ©
SHFENSTE | (T WO TR N0y W 2w ge 2RifEe = |

2. F1e1e fofare ofeefinimrafens ¥ 8y 9 12 @fie ftow Faf Tag ?

T B SRR eieRr Sty sfveraiizer fefers v3 cafdet Fa =0 1 5
STELRCATTR eI TR A (I @ ToEe ©id SfeeRreaaya e @ 7 ST Beom
I | 93 TCA O 8 [ OISR T (et NAid TR &) O ofeRiesye e zacem
SRRl Rua Sed gaeil Tobl Ja I , ¥ SreeRuyef ARkiRel oot Jia Face
A |

V. T WIS CPITE Fada efSesifaaifzet fay serd ©w 3% i &~ 2

R e SR 5o 932 79107 | ©f2 Rwg Treer ofee 7RIl 3@ I3 20 | Qi
PTCER SYRoTrs T FosRAe=R Jal T 1 | Fg wreiy wace sifie (Aes qeeE
ARNITE FHER € SHFF BT SR 12 (IR TR SieeAfRIRe| Rwa e gemi
2T I 2 |

8. I AIPBI TAIT G ©f SeIIRITI TTeT HI AITHF 2T (A ?

SO TS F2AIF ANTCFD (AT FOfF T 8 HIACHED T A3 TeTd Fos [
ZICHITT S ( SAFSCF G AT ) € YTTHIZT AT T 2 | 93 TR
SRR FCa AT [Fofes s Renfis 2o wied 39119 @ Witas 23gwze
I TR ZCH ARMCET S0 TR 23 | TS BN ST 8 HACHS S (ATF
Y ; SRERTAACR T AN T ZZGHIZG NN 2| ZZCHIHN 0= ooy Q@
2SI T 330 AfHF 20T A |



Questions and Answers

Electricity and Chemical Reactions

1. What is the difference between conduction of electricity through an electrolyte
solution and that through a metallic conductor? Do electrons pass through the
solution?

Under an externally applied electric field , the free electrons of a metal conduct
electricity while both cations and anions conduct electricity through an electrolyte
solution. Under no circumstances do electrons pass through an electrolyte solution.

2. Upon what basis are electrolytes divided into two classes i.e. weak and strong ?

This classification is introduced by considering relative electrical conductivities
of electrolyte solutions . On an equimolar basis , a strong electrolyte produces more
ions in its solution than a weak electrolyte. Between equimolar solutions of a strong
electrolyte and a weak electrolyte, the former increases electrical conductivity of its
solution relative to that of pure water to a much larger extent than the latter.

3. Why does the electrical conductivity of water increase if an acid is added to it ?

The concentration of ions in pure water is negligibly small , resulting in its low
electrical conductivity. In presence of an acid, the extent of autoionization of water
decreases. However, dissociation of an acid in its aqueous solution increases the
number of ions to a great extent , and this leads to an increase in the electrical
conductivity of the solution beyond that of pure water.

4. Why does electrolysis of an aqueous solution of copper sulfate turn it acidic ?

In an aqueous solution, copper sulfate produces cupric and sulfate ions while
autoionization of water produces hydrogen ion ( actually hydronium ion ) and
hydroxide ion. Electrolysis of this solution results in reduction of cupric ions at the
cathode while oxidation of the hydroxide ions at the anode produces oxygen gas.
Hydronium and sulfate ions remain in the solution. As a result of electrolysis, the
concentration of hydronium ions in solution exceeds that of the hydroxide ions , and
the solution becomes acidic .



